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16m 2m D=9x10x16+2x2=
1444m +5mm
1/5000 16000/
5000 = +3.2mm
2
A8—+\/61+Nn(5000) + 05 5-1-1
0, 0,
N——
n
s
5-1-1

2
Aazi\/52+3x10x(%) +5 =+ 18.9mm

AD = +v/3A8 = +V/3 x 18.9 = + 33mm

mp 33 1
D ™~ 2 x 1444000 — 87515
1/87515
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Ay
AB 5-1-1
+ lem 2cm
? 1 3 §L 4 § ) B
5-1-1
mm
2mm
0.1lmm 1 ~2mm
A A
Ah
li=l/i+Al+At+Ah 5-1-2
l,—
'—
A— A=Ly-L L, L
A[— Alzl’ia t-20C a 4
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hZ
20,

Af—__ Ah: -

Li=1+1,+ +1, 5-1-3

5
M=+ )YV 5-1-4
n n-1
M 1
w1 5-1-5
L_
V_
n
3.
5-1-2 AB AC
AD AB

5-1-2
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E VS S

5
0.5~1.5
6 0.7~0.8
5-1-3
1 B 2
_ﬁ
B B 4
A 4 & 3 ATFA’ 4 -
a) b) c)
5-1-3
5-1-3a
5-1-3b
5-1-3¢ 1234
JTJ 041—2000 5-1-4 5-1-5 5-1-6

5-1-1 5-1-2 5-1-
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5-1-1
2
DJ, 1 6 9 6
DJ, 3 8 13 9
DJ, — 12 18 12
DJs — 18 — 24
+3° 2
5-1-2
mm mm
1 6 <5 <7
1 1
il 8 <10 <15
<v2 a+ bD
1 4~6 <5 <7
1 1
I 4~8 <10 <I5
I 2 <10 15
1 J—
Il 4 <20 <30
Il 1~2 <10 <15
1 —
Il 2 <20 <30
@ 1 2~4
@
@(1 mm
b mm/km
D—— km
5-1-3
mp mm
1 mp<5
11 5<mp<10 mp=%* a+ bD
Il 10< mp<20
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5-1-5

2000m
1000m

M,

1000 ~ 2000m
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5-1-4
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P

a

180 - ¢

km

5-1-7

5-1-4

5-1-4

90° 270°



i * \A/¢

‘F’ﬁf\
/ N W e,
/'
a
S_1-4
5-1-5
A B
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35217 75,000 100.000 75.000 32.701
4l il (( M L)
L] W Y i
5-1-5
2.
3.
5-1-6 AB D P, [}
C D A
B D A P,
C A D
AP, P, P, P, P,
2.5c¢m 1.5¢m c D P,



D

C/

D/

Cl

5-1-6

D/

5-1-17

AP,

BP;

CP,

DP;

i
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5-1-8

5-1-8

90°  270° 5-1-9
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5-1-10
180°—a /2 90°

5-1-10
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+ lcm

5-1-11
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+2cm

5-1-11

50 ~ 100cm
+ 2cm
+ lcm
y
—_—

+2cm



a
a, d 5_
1-12

S ) \
)
HNEVES
N

o

-]

(11N

5-1-12

25mm 15mm

lem

5-1-13
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TRAERT

5-1-13

> 100m
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b/

10

5-1-14

\
\
s 4
5-1-14
5-1-15
b 0

b
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5-1-15
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1. 5-1-4
5-1-4
> 5000m
2000 ~ 5000m
1000 ~ 2000m
500 ~ 1000m
<500m
2. 5-1-5
5-1-5
km DJ, DJ, DJs §
3.0 +1.0 < 1/25000 < 1/120000 12 — — +3.5
2.0 +1.8 < 1/150000 < 1/70000 6 9 — +7.0
1.0 +2.5 < 1/100000 < 1/40000 4 6 — +9.0
0.5 +5.0 < 1/40000 < 1/20000 — 3 4 +15.0
0.3 +10.0 < 1/20000 < 1/10000 — 1 3 +30.0
3. 5-1-6
5-1-6
1/130000 1/20000
1/70000 1/10000
1/40000
4.
2000m 1000 ~ 2000m 1000m
5. 5-1-7
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5-1-7

mm
mm
+1 +2 DS, +4 L
DS,
+3 6 121
DS,
+5 + 10 DS; 20V L
+8 +16 DS; +30 VL
L km
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2%
2
@) 1%
2
@
1% 2
7
10~ 15
3.
1 5-2-1~5-2-3
5-2-1
3~4 7 10
kN 30 ~ 40 55 90
kN 35~ 45 67 110
kN ~2300 ~3000 3500 ~ 4000
m 0.6~0.8 0.5~0.7 0.4~0.6
cm 35~ 45 40 ~ 45 40~ 50
cm
m 1~2 1.5~2.5 2~3
P, MPa 30 40 50
m 0.5~1 1~1.5 1.5-2
N 15~25 20 ~ 30 30 ~ 40
0.5 0.5~1
m
cm/10 3~5
kN 600 ~ 1400 1500 ~ 3000 2500 ~ 4000
® 20 ~ 40m 40 ~ 60m
©)
©) N
@
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9-B-3 10-B-3 11-B-3
11800/145 22800/130 26000/95
N m/ 11000/140 17800/105 24800/90
10200/135 16300/100 23700/85
kN 7260 13620 22700
kN 31800 49200 63500
cm 43.2 48.3 48.3
s 33097 36775 44130
m? 17.0 21.2 25.5
mm 51 64 64
Mck — Terry
5-2-3
t
1.8 2.5 3.2 4 7
kN 18 25 32 46 72
kN 42 65 72 96 180
kN ~ 2000 1800 ~2000 | 3000 ~5000 | 4000 ~5000 | 6000 ~ 10000
m 1.8~2.3
cm | 30~40 35~ 45 40~ 50 45~55 55~ 60
cm $40 $60 $90
m 1~2 1.5~2.5 2-3 2.5~3.5 3-5
P,
3.0 4.0 5.0 >5.0 >5.0
MPa
m 0.5~1 0.5~1 1~2 1.5~2.5 2-~3
N 15~25 20~ 30 30 ~ 40 40~ 45 50
0.5 0.5~1 1~2 2-~3
m
0.51 1~2
cm/10 2-3 3-5 48
kN 402 ~1200 | 800~ 1600 | 2000~ 1600 | 3000 ~5000 | 5000 ~ 10000
® 20 ~ 40m 40 ~ 60m
©) N
®
@
2
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10cm

O 0O 6 v

@ 1
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1.0m
1.0m

1.0m
1.0m
10cm

1m

1m

10cm

10cm

10cm

10cm

3d
6d

10cm

”

3-5 3-4
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JTJ041 -89 4-1

5-2-1

5-2-1
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6 5-2-1

[

0.5m

1m

N CHC NN CRC N

- 10C

W
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w

1
)
)
®
0)
2
©)
@) 5-2-1
2
oo nFOH 0 +0.2 4% 5-2-1
mp nF + mp Q+q+q
e cm
n 5-2-4
m— 1.5
F— cm’
Q— kg
p—— kg
— kg
q1 kg
H—— cm
H
0.7~0.8
5-2-4 =1
n MPa
0.8
1
1.5
@ 5-2-2



W
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P=40e+0.25 >-2-2
P— t 2
W— kg m
e cm 5-2-3
W
e:7OP—O.25 5-2-3
@ 5-2-4
H, = 100W/Q cm 5-2-4
W— 5-2-5
Q— kg
H— cm
5-2-5
J mm
kg 0 1 3 5
CIIM ~ 1 450 2490 2600 2850 3080
CIIM ~2 600 2540 3100 3410 3720
60 600 3940 4110 4430 4740
1200 1200 7930 8170 8650 9150
1800 1800 11800 12130 12780 13440
YP - 500 500 5240 5410 5760 6100
3 20
10
4
5
©)
@ 10cm



30 ~ 50

5 5-2-6 5-2-7
5-2-6
+ + + + = m

cm

MPa

cm m

(ERCEC)
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MPa

%

%

© e mm

kN

2m
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5-2-5
P
P > R
R = ful kN
J— kPa
u m
L— m
kN
p =0.04n> M kN
n /s
M— kN cm
M 5-2-8
M = AQ
A— A>0.7cm
A=1.1cm
Q— kN

5-2-5

5-2-6

5-2-17

5-2-38
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5-2-8 f

f kPa J kPa
0~4 10 0~2 10
4~10 10 2~-4 10
10 ~ 30 20 4~8 20
30~ 50 20 8~15 25
> 50 40 15~30 40
> 30 50
1
2
3
10 ~ 15min
Scm/min
14 ~ 16mm
1 cm/min
2
1.
1
2
3
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15¢m

2 0.5m
0.3m

1.5~2.0m

1

:1

cm

/min

40 ~ 60

40 ~ 60

20~ 25

20~ 25

1.4~1.5

1.5~1.7
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® 00 .6
I
5

1 1.5

3 1.3

5 ~10cm 15 ~ 30cm
0.5~1.0m

1 150cm
0.4~0.6
2 70cm 2~4

1/3~1/4
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2cm

1072 -

0.6m



1m

1= T
d— cm
D—— cm
5~8m
3~4D
7~9

5-2-9
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1 ~ 3min

12~13
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3~6
20 ~ 30cm
0.2MPa
0.2MPa
3 ~5mm
3 4 1
2 1



30cm
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2cm 10cm
3cm 6cm

EoT hET—rsh

E .= j=====—x1
ey ——e [ 5 S—— ua
e L e O
h’—r—n—fn—'Jj» “i'—rq»—r»«'é‘

a—a h—h
5-2-5
6m
25m 5-2-17
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100m’

25%

30m

15cm

100m*

200m’
50m> @

AR A
2 AT

/L;{i;'

30m

300m’
1.5m~2.0m

1/4
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3000k N/m’

10cm 25c¢m
25cm

1975

5 35¢m 90.0kg ~ 120.0kg
26% 50m’
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95

310

—:£20
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— /Zir’ Coor )
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09°0909"
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oo
5SS

T A
J RSk 135 FA
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cm

1.2~1.5

2cm
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2cm

5-2-10
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A
Al=1l-1l1+1,

5. 50cm

JTJO41 -89 5C
0C

1. 30mm  150mm
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4. 30cm

5. 40MPa

716 ~ 721

1994

5-2-11

10mm
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5-2-12

2 ~3mm

5-2-13

0.4kg/m2

0.3~
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10C

W\ A WN

2. 0.5h
3. 10 ~ 30cm

1d
100°C

6¢cm

2 ~ 6m/min

5. 80°C
20 ~ 30cm
3m 100cm
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5-2-14

10 ~ 15¢m

10.

20

MPa

Smm
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2mm

6.

7. " e "
8.
9.

10.

5-2-15

1

2
2-1
2-2

3
3-1
3-2 30m Smm
3-3 5 4mm
3-4 4mm
3-5 3mm
3-6 Smm
3-7 2mm
3-8

100mm
20mm
3-9
20mm
JTJO41 -89
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n 1 A -l
100 | 1-2%100 1100 ()Q! W—200£100
I ; 1 -
1 | 1—1
5-3-1 cm
1— — 3— 4—
80 ~ 100cm
2.
25mm 32mm
3 3
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1
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5
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2.
2 3
5-3-3
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1
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5 2-2
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9 4
10 5
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100m

By sk

5-3-5 L<100m

100 ~ 200m
5-3-6 60t
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5-3-6 100m< L<200m

200m

108 5-3-7
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100m

50m

150m 70t

100 m 59.1t
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L=112.8 m

gentobel
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150m

L =200 m
L =420 m

70m

11

60m

L=312m
40m

5-3-10 50

5-3-10

50

Ar-



5-3-11

s S S s SR
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“
A

'¥ﬁﬁ‘]ﬁﬁhﬁ \
]
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= il
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5-3-11

5-3-12 1990
200m

FRBERER
(TAERE AT 20

5-3-12

T 1995
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T 4000t T
7100t 50
5-3-1
1955
1975
1987 260m
500m I11m 50.59m 1988 1993
423 m 602m 8346m 846m
46m H 150m 7658m 1172m 48m
Y 220m 6 30.35m
1994 6
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2.3
C/L / 0.52~0.65
3. 0.5~0.6
c H C/H = 1/50 ~ 1/100 1/40 ~ 1/200
3 C/H  1/80~1/100
h
Lt 4l Fi | 19. 20 |
150 6.50 _ 1.601.60. 6.50 .50
30.00 P S e i -1+
2 11 14211 (2 2% POOS L g
6.25 | 6.25 I NS St o LS| =% 4
L5 5 25% N
0.5 i 0.5, i NT ) ok Z:. a'é‘o
. - | g 0.5
]
i 5.60 | 4.00 | 4.00 | 5.60
035 5.25 1S 9.60 | Io.60 | 4.95 |[0.35 - - 8 %
' 29. 30 !
PRV
HEH Lewx=320m
Luw=145m
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Lix=134m

L N‘P 20. 4 i.@i '

0.2]:2.5 15 2.5 10.2
R R —
2
. 5 ' . 8
LEE R 2 R S Bk
Lox=299m
Py XA
- 10 |
L'Si 7 L5 |
Il l |
of M1 —
. — H i 0.255 0. 2]0. 25
2 ¥ < L V‘ﬂl
250 650 750 -
Eo— s L 9.6 ! |
#HRT
Lo =245m Yk
Low:=144m
L.C.R P.P.W.S H
D =146mm 265$7 D =155mm
30197
t MPa MPa
+T 827
i 1138 ~1275 | 1.57x 10°
L.C.R 1 +E 2 100mm
$Smm 668 1569 196 x 10°
P.P.W.S P.W.S-217 1765 TOX
1x127 333 62mm 1304 ~ 1432 1.57x 108
7% 37 324 70mm 1275 ~ 1373 1.37x 108
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! A /\
' A /\
a7
E]l a a l (m] !
5-3-3
JTJ041 - 89
m

<200 1/25000 1/10000
201 ~ 500 1/50000 1/20000
> 500 1/80000 1/40000
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10 ~ 30cm/h

1~1.5m

Sm

50cm
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oA W =

=)

10m
7. 80%
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1. + 10mm +20mm +
10mm
2. +5%
3.
4
5-3-5
<5mm/m
1 0.1RY R}
2m
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20 . 4°

2~4
Imm
5-3-6
150g/m?
1.5
0.1mm
0.4mm
25°C 120MPa 60°C 70MPa 1

Ih 2h 4h Sh
—70°C—140C—180C—
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150% 7Tmm

100M Pa/min
5% ~ 10% 150% Smin

AL

AL
L<100m AL<20mm L >100m AL <L/5000

95% 2%

30

1109 -



10%

10% H/1500
H JTJO41 - 89
10%
Smm
525 0.35
=30MPa
0.6~0.7MPa 50m
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1993



mm
I -1 10
1-2 +20
1-3 1.5H%0 #40
[ -4 +20
1-5 +10
1-6 + 10
1-7 +10
1-38
nm-1 10
-2 +5 -8
-3 £5
-4 +10
-5 +20
-6 5
-7 + 10
-8 +10
-1 13 <7
-2 L <100m +20
L >100m L/5000
-3 10%
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(6)

5-3-14 >-3-15

a b 1—L100 x 100 2—L100 x 10 5-3-16
mm mm
2 5-3-15
3 5-
3-16

1.
2.

1

2 5-3-17
3.

1

2 2m

3
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(5)
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1.3

(d)




1.5

w @ B 0 60 0 o

1.0mm

0.2~0.3mm
0.4mm
35

5%
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@ 20%
80%

40mm

w
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3
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5
5-3-19
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(a) S@X (b) Hr=
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5-3-20
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TR 4 HiR 3 5
A
75555555 ;;;EEEE;ZL_“-J
5-3-20
3,
30
1965
20 60
20 60 1966 1967
20 70
8.15m—16.3m—8. 15m
1971 6m—14.5m—6m 1971 6.8m—12.5m—6.8m 1974

4.5m—14m—4.5m 1975

116.5m 1977 10680 1978

20 80
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8m—16m—8m 8m—16m—8m
11.75m—9m 8.15m—16.3m—8. 15m
I5m—21m—15m 1986 90
14.9m—17.5m—17.5m—14.9m 1990
23.52m—23.52m 1994

1997 4
“ " 1965 1980
1000mm
14km 1982
205m
3.3km 1.5m
5-3-10
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$ mm 1050 1150 1350 1550 1750 1950 2150
mm 117 125 142 160 175 190 110
kN 2600 3000 4000 5000 5900 6500 7700
kN 4300 5000 6600 8200 10200 12000 14800
4m 8m 12m 5-3-21
5-3-10
TiEH iR R
~ 7
#0
i
#
#u
A0
\ K& R
5-3-21
2.0m
135° 255° 15mm 1/4
1953
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300mm

20 20
70
250 ~900mm 50 ~ 80m
250 ~ 1000mm 50 ~ 100m
150m 250 ~ 2000mm
1.
160mm 300mm 47 .5m
2.
50
3.
50%
1/4 ~1/6
0.289 0.8 0.39~0.77
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1.2~1.4

4.
URT NNCB 1980 PCR
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5-3-22
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'

i

{(b) EWMHHRE

1123 -



1124 -

-23

=7l
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1.5%
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0.2~0.5m
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3. 5-3-30
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B AL 28
S

5-3-30 5-3-31

4. 5-3-31

5. 5-3-32 T
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N
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200°C ~ 300°C 20 ~ 30min

3
Smin
0— 10% — 105% o,——> 90% o,—0,
Smin
0— —105% o, —00,
Smin
0— —105% o, —00,
Ok
105% o, oy OVM
105% 4, 103% s,
75% 90%

70%
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5-3-13
1992.3 ~ 1995
154m + 452m + 154m
6 — 20 —120 €60
7-705 9-705
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5-3-52 cm

1.

1
O
@)
® + 2t
@

2

C60 52.5 FDN—3000
+1% +2%

1154 -



5-3-53

- T T mRaNn - -
707 3
[} = t
MR - RE ey
[ ! - ! Ll
41111004 7 1545 1 452.0 T 1545  T100.4 411
5-3-53 m
1800k N
121

1155 -



5-4-1

1156 -



5-4-1

* * *
*
* * *
* * * *
*
* *
*
* *
* * *
* *
* * *
*
* *
* *
* * *
*
O * 2
®
1 =10
R-K,S,=0.9R 5-4-1
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R— M Pa
R n MPa
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2 10
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4
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2
3
4
5
6
2.
b<2m h<3m
4 I, I,
T6¢g
1
5-5-1 5-5-2
5-5-3 5-5-4
5-5-1 oo
E, MPa 10 15 20 25 30 35 40
oo kPa 380 430 470 510 550 580 620
Qs
5-5-2 oo
E, MPa 4 6 8 10 12 14 16 18 20
6o kPa 190 220 250 270 290 310 320 330 340
5-5-3 o
I,
00
0 0.1 0.2 103104 05]0.61]0.7]0.8]0.9 1.0 1.1 1.3
e
0.5 450 | 440 | 430 | 420 | 400 | 380 | 350 | 310 | 270 | 240 | 220 — —
0.6 420 | 410 | 400 | 380 | 360 | 340 | 310 | 280 | 250 | 220 | 200 180 —
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I,
0o

0.7 400 | 370 | 350 | 330 | 310 | 290 | 270 | 240 | 220 | 190 | 170 | 160 | 150
0.8 380 | 330 | 300 | 280 | 260 | 240 | 230 | 210 | 180 | 160 | 150 | 140 | 130
0.9 320 | 280 | 260 | 240 | 220 | 210 | 190 | 180 | 160 | 140 | 130 | 120 | 100
1.0 250 | 230 | 220 | 210 | 190 | 170 | 160 | 150 | 140 | 120 | 110 | — —
1.1 — | — | 160 | 150 | 140 | 130 | 120 | 110 | 100 | 90 | — | — —
1 0
2 2mm 30% oo
3 e<0.5 e=0.51,<0 1,=0 0
6, =57.22E%7 5-5-1
E—
5-5-4 G
%  kPa I <0.25 0.75 1.25
e
<0.8 140 120 100
0.9 130 110 90
1.0 120 100 80
1.1 110 90 —
2
5-5-5
5-5-6 5-5-17
5-5-5
2mm 25% ~ 50%
0.5mm 50%
0.25mm 50%
0.lmm 75 %
0.1mm 75 %
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D, Nes.s
D, =0.67 30~ 50
0.33<D,<0.67 10~29
0.20<D,<0.33 5~9
D, <0.20 <5
5-5-17 o
o0
550 400 200
450 350 150
350 250 100
350 250 100
300 200 —
300 200 —
200 100 —
3
5-5-8
5-5-9
5-5-8
200mm
50%
200mm
50%
200mm
50%
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5-5-10
5-5-11 5-5-12 5-5-13
5-5-10
Qs
Qs
Q:
Qs
5-5-11 o
Wl wW, 0.4 0.5 0.6 0.7 0.8 1.0 1.2
oo kPa 130 120 110 100 90 80 70
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) 0.5kN 50cm 1.2
@) 16cm 4em
3~4 1.3
® 1~1.5m 2.0
@ 4.0
5-5-12 o

g

kP <10 13 16 19 22 25 28 31 34
a
wi,
22 190 180 170 150 130 110 90 70 50
25 200 190 180 160 140 120 100 80 60
28 210 200 190 170 150 130 110 90 70
31 230 210 200 180 160 140 120 100 80
34 250 230 210 190 170 150 130 110 80
37 — 250 230 210 190 170 150 130 110
40 — — 250 230 210 190 170 150 130
43 — — — 250 230 210 190 170 150
5-5-13 o
oo kPa <0.7 0.7~0.8 0.8~0.9 >0.9
<0.6 700 600 500 400

0.6~0.8 500 400 300 250

>0.8 400 300 250 200
oo 100 ~ 200k Pa
3.
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b>2m h >3m h/b<4

c
c = oy +kir; b-2 +k,r, h=-3 +10h, 5-5-2
c kPa
b—— m b > 10m 10m b <
2m b=2m
h— m
h<3m h=3m
r kN/m’
r/
r, kN/m’
ro=2rh/20h; rih,
ky k,—— 5-5-14
h,—/— m
5-5-14
I1,=0.5|1,<0.5
ky 0 0 0 00|00 0]1.0[1.2/1.5/2.0{2.0({3.0(3.0/4.0{3.0(4.0|3.0(4.0
ky 2.5 1.5 1.5 1.0{1.5/1.0/1.5/1.5(2.0|2.5|3.0(4.0|4.0/5.5|5.0[6.0(5.0/6.0{6.0(10.0
@ ky ky 50%
@ ky ky
® ki =0 k=0
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C,— kPa
(022)(-24 2
Kp —(1-+0.2 . 1 < b Cu
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h— m
b a m b a b' b'=b-
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00— kN
o
6 = 6o +1, h-3 kPa 5-5-4
6y —— 5-5-15
5-5-15 Gy
W % 36 40 45 50 55 65 75
oo kPa 100 90 80 70 60 50 40
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4.
5-5-2 5-5-3 5-5-4 c I
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P S
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4 150kPa k=1.0 1 k=1.25
5 I
5-5-1
1— — 3— 4— 5— 6—
P—S 5 -
5-2
1. P—S
P—S oa
2. a P—S ak

1177 -



/l/
5-5-3
/1/
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1178 -



5-5-5
Nes s Nes s
63.5kg
15¢cm
N 5-5-6
5-5-6
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N'"=30n/AS

n
AS—— n cm
2
3
N =aN’
N/
a 5-5-17
N——o
5-5-17
m <3 6 9 12 15 18 21
a 1.00 0.92 0.86 0.81 0.77 0.73 0.70
2.
1 N oo 5-5-18 5-5-19
2 N 5-5-5
5-5-18 kPa
N 10 15 30 50
180 250 340 500
140 180 250 340
5-5-19
N 3 5 7 9 11 13 15 17 19 21 23
oy kPa 105 145 190 235 280 325 370 430 515 600 680
5-5-7 25mm 1.0~1.5m
10kg 50cm 30cm
Ny, Ny 5-5-20 5-5-21
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1
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100 400 5-5-20

R, R, R; R, 5-5-21 R,
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R, +AR,
Vw=®k v AR, +&r, <V >-5-7
R =R,=R,=R,=R
y, = RtAaR 5-5-8
MR ¥ AR,
_ _ [ R+AR, _ AR,
VO_VAB—VA,)_V(ZRJrARl—I/Z =4k 1208 %V 5-5-9
AR, <R
_V. AR, V¥
V=g g = Ke 5-5-10
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_V[AR, ARZ)_X
V0—4( R - R4 8 5-5-11
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AR/R €
3
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R =AR,+ARy= a,—a At+p,A1/K 5-5-13
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a
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1
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2
@®
al—] 7 € + Ve,
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0y 03
©)
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$o =7 g lg

24

5-5-18

5-5-19
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y
32
45° 2
X 3 .
h 120
X
1
a) b) ) d) o)
5-5-25
a b c d e
5-5-24
A B c
45¢° €og t €99 €0 — €90 2545 —ep - €90
5-5-25a o fo~tw0 Pesmfow
o 5-5-25 €0t €60 + €120 €0+ €60 + €120 €60 ~ €120
c 3 € — 3 \/g
Eot+ €90 €0~ €9 €60 ~ €120
5-5-25e 5 5 75
€gt € + € + € 1 1
5-5-25d W 5 c0-em 1 es-es
4.
P—A
P—oc
S("
n= 54 5-5-26
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SS
S S



7 5-5-25 7
7 i
7
7
5-5-25
0.20~0.40 0.20~0.50 0.60 ~0.90 0.70 ~ 1.00
0.40 ~0.80 0.50 ~0.90 0.70 ~ 1.00 0.80~1.00
SIS,
S,/8, 20%  S,/S, 20%
Ma 1
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Al R
Sd }”OWL}’EIQ ng 71 ay XZZ 5—5—27
. R. R
Si 7,6 7,20 <7,R, y X Z, 5-5-28
i 5-5-26 Z, Z,
Z,
1 +
2
5-5-26 Z,
7 Z 7 Z
0.4 1.20~1.30 0.8 1.00~1.10
0.5 1.15~1.25 0.9 0.97-1.0
0.6 1.10~1.20 : 97~ 1.07
0.7 1.05~1.15 1.0 0.95~1.05
L.g
2.77
3 N 1
3
Ui
/4
l/4 1/4
1/4 i 5-5-26
A Z,
5-5-27 5-5-28
3.
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JTJ 022—85 4.2.13 JTJ 023—85 4.2.3
L/1000
20%
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L/300
L/300
5.
Spm< O 5-5-29
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0.30
0.50
0.30
0.50
0.20
0.30
0.50 3
0.20
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r
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5-5-26
1 2.
x = Xysinwt
x
Xo—
—
y m
5-5-26 m X+ y

2
dy, dy .
m teqt ky = mXyw™ sinwt
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